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TH X5y - TR - FE5 - A BB LA % & A H & M e (&E L)
TH B MERE
X 1 72,900, 340
T ARAMERE T
X 1 18,017, 250
B ZAFHET

X 1 18,017, 250
EARBE (A) 2 30cmA i

Z 200 3, 370 674, 000
FARTE (B) 2 & 30emPL | 60cmA i

Z 200 4,750 950, 000
FARTE (C) 2 JE60cmPL _90cmA i

¥N 200 8, 820 1, 764, 000
EAREE (D) B2 890cmPA - 120emA i

¥N 200 12, 160 2,432, 000
AR E (E) #E 120emP)_F150cmA i

¥N 50 33, 390 1, 669, 500
AR E (F) E150emb)_F180cmA i

¥N 20 56, 470 1, 129, 400
AR E (G) E180cmb)_F210cmA i

Z 5 64, 440 322, 200
FAREE (H) & 210embh bk

¥N 5 105, 060 525, 300
AR E (BE) (A) i 100emLd _F200cemA i

Z 30 1, 900 57, 000
PR E (BkE) (B) i E200emLl _F300cmA i

Z 20 5, 090 101, 800
TS E (A) B E# i S60cmb k-

m2 10 230 2,300
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TH X5y - TR - FE5 - A BB B B B A H & M e (&E L)

FHLE (B) B TE 4 1 S 60cmA

m2 2,900 160 464, 000
FEnE (A) AR

Z 4, 000 1, 800 7,200, 000
K (A) R (5 1)

m2 10 70 700
BRI (A) 2 60cmA i

Z 2 390 780
mARBIBR (B) #E60cmPl 1 120cmA i

Z 2 670 1, 340
HRBIER (A) = 100emPL_E200cmAi

Z 2 110 220
HRPIER (B) 8 200emEL_E300cmAT

Z 2 180 360
R TRESRAIEA (A)

m2 5 80 400
IR F SR AIAT (A)

m2 1, 800 58 104, 400
MRS AIAT (A)

m2 700 200 140, 000
B (A) 42N H=3.5 €=0.21 W=1.5

Z 3 54, 620 163, 860
AR (A) TN YRIUN A H=0.4 W=0.4

Z 3 1,810 5, 430
RAHfE (B) BN R H=0.3  W=0.3

Z 3 1,320 3, 960
AR (A) 2 & 30emPL | 60cmA i

S 1 47, 220 47, 220
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TH X5y - TR - FE5 - A BB B B B A H el WE (GBS

A (B) 28 60cmPL _90cmA i

¥N 1 120, 290 120, 290
FABHE (A) HtE60emPL_E100emsA i

Z 1 1, 400 1, 400
hARBAE (B) 1 100emPL_E200cmAi

Z 1 3, 950 3, 950
AR (A) 6 60cmA i

Z 3 670 2,010
mEARXEE (A) A

Z 2 5, 700 11, 400
mEARXEE (B) ) S N

Z 2 7, 220 14, 440
mEARXEE (C) D S TSR f

Z 2 4,120 8, 240
FARZEE (A) R (1A - /1)

Z 2 1,100 2,200
RAZEE (B) ey 7

m 40 1, 590 63, 600
THES R R (A) N=JHERE  20kg/48

4% 5 480 2,400
THES R R (B) FEl% T AKIGIE2/E AL 20kg/ 4

4% 5 1,180 5, 900
HHI GRS (A) Al FEAM  500mL/A

Z 5 1,190 5, 950
L A7eb BB (A) £3mm F20m (%)

W 5 120 600
B R (A) WHMESLWECLER)

m3 5 2,940 14, 700

-3 - [ES [ B LR - 3 LW e[




NN /2

(i

*

TH X5y - TR - FE5 - A BB B B B A H & M e (&E L)
B B T
X 1 48, 438, 000
T R
X 1 48, 438, 000
RIRBREL (A) A 2t
m2 300, 000 158 47, 400, 000
FRE (A) HHORX ROabi#EE
m2 2,500 144 360, 000
FRE (B) AT
m2 3,000 226 678, 000
P RULEE T
X 1 997, 300
IR ALERESE T
X 1 557, 200
IGEAERIEE (A)
=35 20 14, 040 280, 800
IGEALERIEE (B)
=35 20 13, 820 276, 400
P RULEE T
X 1 440, 100
ERET (A)
A-H 5 25, 430 127, 150
TmEEE (A)
A-H 5 23,710 118, 550
5 7" NyriEls (A) 2t
I [H] 5 5, 750 28, 750
Ny Ov-v25 A i (A) 2tF8 2.0t P
RE [ 5 6, 330 31, 650
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TH X5y - TR - FE5 - A BB B B B A H & M e (&E L)
EATIEE HER (A) Ny IBREE) TN AT b Ay MR
PEZEKR @ 12m
I [H] 5 8, 700 43, 500
EATEE HERR (B) Ny IBREE) TN AT b Ay MR
VEZEIR i 24m
I [H] 5 12,100 60, 500
Ny JryiEER (A) yo=53  [UFHO. 13m3 (SEAHO. 1m3
)
I [H] 5 6, 000 30, 000
AR & [\ T
X 1 541, 800
T K A T
X 1 541, 800
HKE (A) FAMNY 1.5L
A 10 54, 180 541, 800
FEAAN & T
X 1 3,515, 690
BIA#HET
X 1 1,529, 190
MIAREE (A) B 20cmA il
Z 5 2, 030 10, 150
BARZE (B) 2 JE 20emPL 1 30cmA i
7N 5 3, 760 18, 800
BARE (C) 2 & 30emPL | 60cmA i
Z 5 11, 060 55, 300
BARE (D) 28 60cmPL _90cmA i
Z 5 24, 960 124, 800
MIARE (E) EE90emPl_F120emA T
Z 5 43, 300 216, 500
BIARME (F) 58 120emBA _E 150cmA i
S 3 55, 930 167, 790
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TH X5y - TR - FE5 - A BB B B B A H 4 el WE (GBS
AL (G) 58 150emPA | 180cmA i
Z 3 76,510 229, 530
MR (H) 588 180emLA - 210cmA i
Z 3 96, 350 289, 050
MIARRE (1) B 210embd
Z 3 132, 340 397, 020
TRfE (A) AR
Z 5 1,430 7,150
THfE (B) HFARIREEE (1 A - 41)
Z 2 550 1,100
THfE (C) oA AP
m 40 300 12, 000
TEHRALEE T
X 1 1, 986, 500
BIE (A) (BEHEA - RBEA) @
t 10 0 0
BIE (B) (BEEA - (REBEA) Bk
t 50 11, 000 550, 000
BIE (C) (BEHEA - (RBEA) B
t 50 19, 210 960, 500
BIFE (D) —fkEEFY) TR, BREE
t 50 9,520 476, 000
% T
X 1 1, 390, 300
AR EEE T
X 1 1, 390, 300
RIWHEEE (A)
A+ H 60 20, 370 1,222, 200
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THEX Sy - TAE - FRAI - f50 Hi i3 TREAL K & A HLA & " WE (GBS
RiEHEEmE (B)
A-H 10 16, 810 168, 100
HEEE TR
X 1 72, 900, 340
S R
X 1 6, 468, 180
S I
X 1 61, 280
Esa k=i
X 1 61, 280
P it 5% FEAR T A ERR R
X 1 61, 280
iR (Ei L)
X 1 6, 406, 900
W T
X 1 79, 368, 520
By Bty
X 1 28, 929, 250
L5355
= 1 108, 297, 770
— A B
X 1 12,312,230
T3l As
= 1 120, 610, 000
EEETREEE ]
X 1 12, 061, 000
TH2 5t
= 1 132,671, 000
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